<
0
OFl



AL 7% BEH

o §‘7:” O‘ EI‘l-

— 9835k (useful) HEE H33iA HEO| X9
O|ANfHANS E= 7

o= H4dHL-
- 7|9 LH QE 9| O|sj 2t A XI=2| M H|CHE
(information asymmetry)= &2

—~ *W.(optlmal) OIMNEES 7(l &
. XfOJ 9#.9. 747<-| 7|o4 |_1

= =O

H
=
-718 49 =0 7|9




7| 22| mission
— =F7HK| =Lh=H(?)
- 88 =H:
. 0|2l X|CHS}?
« X[ 7=t O] Y x|Cl =}




. 7lelo| FQ BE

— XM F(financing): At22| =&

Ol
H

=
T

L N |

FAI2 0] 2]

AH A
O -

— & XHinvesting): A=2

al
o

AH A
O L

— A A (operating): A2t/ A H|AQ]



AL 7% S|

H

x701K 3022 J|Yo| BEE 75
== mmol 7| Mt X|H:
— X}7|RH20| Y E(return on equity, ROE)
— ROE = FolA20|2 &+ M FeHE|X| Tt
— E5IAFE0[Y &= (Return on Invested Capital, ROIC)

—W$t%ﬁmm/ A E SRR
— X2 HE|X| =t

= (ROIC-M|Z2 75 HE X2 &) =X FF X /At 7| Kt =
2| A= ROICR AtEH|EZ S5 OE01| 710



AL 7|8 S| =

2| Al 7F ROICO]| 7| OS2 H:

— 85 3| A" =Tt A0 (timely) M3 | 0f0f

—OINZA™EXIE0| SIHHEEE KR s8et = &
OfOF

2| A7F M F2H 2[ X0 7| &St H:
- Ar=2H| 85 E40HOoF EfQIX =) Ap7[ K=
« 28 EXAE2| SAEE0 =&0] E|O0f
- ROICE &0 A}2H|& 12| spreadE =tCHSHOF




=

718 Lh5 A ES A

a_._m_”__\//
_ T o
K ="
g %Jﬁﬂ
|_._A|+|nﬂ|_Ar N
- oF jod 9
o o N
Hoyn ™ <
I S
ool s
o) o KO =
2 KT o
— ol K
S R o
ol o 2 o
| B R
< %R o Gl
T =T o
i < o Il

T BUFr @
K M o °
|

- MF8 L0 XAt 7

nd
N1
= . {0fil O
P o< E
< o
o RO 7 2
_._.__|._.O|r L
H.A ﬂn_LLl
.__Mom._lur 10
7o._LO|an_|__H
RK 3
me._oo§
go OF B
o & o
R0 oF 3
ol —- 1
2 K L
N ol
oH & K
wr <4 RO
~ K ol
Ul B0 N
oo_Ho



718 Lh5 2IAFES A&

A 2
— CFO= CEQQ| H|=L|A OE {7} £|0{OF
—'E%i“ fE(BaIanced Scorecard)

* cost < price < value

. 7(-'=”§}(di1‘ferentiation)jq 2 value 37t Al

« 1712 2|(cost leadership) ™ EF: cost Z4a Al

. Al_jeqjgo Ol disto g2 @ 5t= Z{0| X|£ 7}

@)
soh dikE E?




A=HlE 24
. QREXIA oA ZYO| RE DEX
5|47}t F£3| M2 0fof

- JHEZ|E A&
- L F2 AN E2}:
. A|MS (2013)
- 37|SA 8=t 5 2AFEE &2
. 0|Z Y 9| (2013)




Q It
O = [

At=H

=

vl
LN
Ol
N
i
s O
ez
¥4 ~i
N KO 7o

IH
o
FSPSL
S|
7|

"
|28 100CH 7| & 2014E Al7

A
o

[ At EAF &

S
AFC|74 99% O]

f
IMD
7|:|I-

At

o

A
FAEH O

o

< ..0F

o
&
B3
NN
o

O __H,4
ol I
o] T Mol
N0 &= Ol
m_”_.n_mm_vx._._ |_w|._|_n__u
VRN X O
ol ]
o_uuﬁ Sar
RA®oOE<E S
— o,  ——104d40
SRR

—1 N O _/_”__/l

Jor g X
<V o7 o < HO HO



xheulg 2

» HCHFLEQF HCHFHI S Ate (20144)
HELNH] [ FHAE 4 481 O] el
-mwr =7}
« IDHZLE: 1,910A|ZF0M 9,466A|2t2 =
« ACH7H I & 3,630A| 210 A 8,940A7FL 2

» FLAN 2| FH]
-4 2 Al=[H H[E= 2uots Eet FAt

—



